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/01020 34545 67 89:;<=> 6>?@>
X = 4, 7, 10, 13, 15
p = 7, 33, a, 33, 9
M(X) = 10.0231

/01020 345A 5 B ;7@C 6D? EF G H@D 8C=I
X = 5, 7, 10, 14, 16
p = 11, 36, a, 39, 7
M(X) = 10.2518

/01020 3453 5 B 87 @J:@C K8@D H=L
M=<;L7@C=I
X = 3, 7, 10, 13, 16
p = 7, 38, a, 39, 6
M(X) = 9.9291

/01020 345N 5 B @>O;D 8>9@ 6>OD 8L
X = 4, 8, 9, 14, 17
p = 6, a, 46, 41, 7
M(X) = 10.3813

/01020 345P 5 K=7QF ;>@C B J7;?
R;=7Q8C=I
X = 3, 7, 9, 12, 17
p = 4, a, 48, 30, 9
M(X) = 9.5806

/01020 345S 5 T H@D @C U :8C@7@O V=D =77 @C=I
X = 3, 8, 9, 13, 17
p = 7, 35, a, 38, 9
M(X) = 10.1136

/01020 345W5 X JD;C7 8C; 6>;:?;:=Y
X = 3, 7, 11, 12, 15
p = 3, 31, 45, a, 8
M(X) = 10.3629

/01020 345Z 5 [;<;D @C \ ;>=7
67 89:;>OD @C=I
X = 4, 7, 10, 14, 15
p = a, 32, 51, 37, 4
M(X) = 10.4252

/01020 345] 5 [J^D =7QI8C \ ;>==7
X = 5, 8, 10, 13, 17
p = 13, a, 46, 38, 6
M(X) = 10.1522

/01020 3454_ 5 G`@?@C a@F ;> G H@D 8C=I
X = 5, 7, 10, 13, 16
p = 7, 38, a, 39, 9
M(X) = 10.1560

/01020 345445 bJ9;>=> 6789:;>OD
c8D H88C=I
X = 5, 7, 10, 13, 17
p = 7, a, 41, 38, 14
M(X) = 10.3830

/01020 3454A 5 c8F 8>@C \ F =?D =L
c8D H88C=I
X = 3, 6, 11, 14, 16
p = 9, 33, a, 40, 9
M(X) = 10.4894

/01020 34543 5 c8> cJ^<;F
X = 5, 7, 9, 13, 17
p = a, 39, 42, 38, 8
M(X) = 9.6475

/01020 3454N 5 c? 8d;>@C; cC8?7;>;
X = 4, 7, 11, 12, 15
p = 10, 40, 52, a, 3
M(X) = 9.7092



/01020 3454P 5 e?9=> 6D? 8F T CH8>Q8C=I
X = 4, 7, 11, 14, 16
p = 4, 36, 46, a, 6
M(X) = 10.7597

/01020 3454S 5 fD;d@C G C;> R =9@7;8C=I
X = 4, 8, 11, 14, 17
p = 5, 42, a, 35, 9
M(X) = 10.9859

/01020 3454W5 g8D >hi 8C T H@D U ;O=F @C=I
X = 3, 6, 11, 13, 15
p = 7, 35, 51, a, 4
M(X) = 9.8047

/01020 3454Z 5
X = 3, 7, 9, 13, 16
p = a, 40, 42, 35, 5
M(X) = 9.3130

/01020 3454] 5
X = 3, 6, 10, 13, 16
p = 9, a, 46, 31, 8
M(X) = 9.5748

/01020 345A_ 5
X = 3, 7, 9, 13, 17
p = 7, 34, a, 38, 7
M(X) = 9.7424


